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- ~ Suppose that explosion accidents on a particular city occur on the average about
four times every year. If the occurrence of explosion accidents on this city
constitutes a Poisson process, (Note @ f X ¥t #cehdpdfe=r > @7 11 73 Py
%)

(= ) find the p. m. f. of the number of the explosion accidents. (6 4 )
( = )Suppose further that and the proportion of causing fatal explosion accident is 1/4,
find:
1. the p. m. f. of the occurrence of fatal explosion accidents, and (9 4 )

2. the probability of exactly one fatal explosion accident in a given year. (10 4 )

S REE T AINAL
(= ) Describe “least square method” and three different types of sampling
distributions. (10 4 )
(= ) Describe “p-value” and “t-test (both matched sample test and independent
sample test).” (10 4 )

( = ) If X follows normal distribution with mean 4 and variance 4, find

1 _1(x-4)2 1 1x=4y2
[JioooxzmzeZ(Z)dx]'[jgoooxmzeZ(Z)dX]Z =9 (5%)
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